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SLT 4 – STUDENT WORKSHEET

PIL
     Guten Tag, Lufthansa 4 4 3 9 level 2 3 0

CTL
Lufthansa 4 4 3 9 Guten Tag, identified

--------------------------------------------------------------------------------------------------------

CTL
Reach 4 0 6 4 3, contact now Frankfurt 1 2 9 6 7 Bye bye

PIL
1 2 9 6 7 Good day

--------------------------------------------------------------------------------------------------------

CTL
Reach A D T 3 descend to flight level 1 1 0

PIL
(1) _________________, T 3

CTL
That is correct, contact now Frankfurt 1 2 9 6 7 Bye bye

PIL
29 67, so long

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 4 3 9 reduce speed to 2 5 0 knots indicated, descend to flight level 1 1 0

PIL
Descending level 1 1 0, reducing speed to 2 5 0 knots, Lufthansa 4 4 3 9

--------------------------------------------------------------------------------------------------------

CTL 
D V W  (2)________________________

PIL
15 hundred, VW

CTL
Roger, (3) ________________________

PIL
More than 2 thousand 5 hundred, V W

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 4 3 9 recleared flight level 2 hundred

PIL
Flight level 2 hundred for Lufthansa 4 4 3 9

CTL
D C C V W hold overhead Rudersheim until time 0 9 4 9

PIL
Rudesheim hold 0 9 4 9, V W, (4)________________________

CTL
Okay approved

PIL
Ack.

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 contact arrival 1 2 0 8 Bye bye

PIL
1 2 0 8, 1 4 0 2 Wiederhören

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 4 3 9 your holding time will be 0 9 5 1

PIL
0 9 5 1 for Lufthansa 4 4 3 9

--------------------------------------------------------------------------------------------------------

PIL
Approach, Guten Morgen, Air France 1 4 0 2 (5)________________________

CTL
Good morning Air France 1 4 0 2 reduce speed 2 5 0 knots

PIL
Reduce to 2 5 0 knots, Air France 1 4 0 2

--------------------------------------------------------------------------------------------------------

CTL
Baltic 7 5 7 turn right heading 2 2 0 cleared i_l_s 2 5 left

PIL
Right heading 2 2 0 cleared i_l_s 2 5 left, Baltic 7 5 7

--------------------------------------------------------------------------------------------------------

CTL
Tarom 3 0 3 reduce speed 1 80 knots

PIL
Reducing to 1 8 0, Tarom 3 0 3

--------------------------------------------------------------------------------------------------------

CTL
Arrivals, good morning Scandinavian 6 3 1 (6)________________________, maintaining level 8 0, (7)________________________

CTL
Scandinavian 6 3 1 Good morning

--------------------------------------------------------------------------------------------------------

CTL
Grantia 4 1 0 reduce speed 2 2 0

PIL
Speed 2 2 0 Grantia 4 1 0, (8)________________________ 

--------------------------------------------------------------------------------------------------------

PIL
Arrivals, grüB Gott Lufthansa 1, er, 3 2 0 3 (9)________________________

CTL
3 2 0 3 reduce speed 2 2 0, Guten Morgen

PIL
2 2 0 and if possible we would like to have (10) ______________________________

CTL
Say again please, 3 2 0 3 ?

PIL
If possible we would like to have (11) ______________________________

CTL
Roger, (..........)

PIL
Okay

--------------------------------------------------------------------------------------------------------

CTL
Tarom 3 0 3 turn left heading 2 8 0 cleared i_l_s 2 5 left

PIL
Left on heading 2 8 0 clear i_l_s 2 5 left

--------------------------------------------------------------------------------------------------------

CTL
Scandinavian 6 3 1 speed 2 2 0, expect 2 5 left

PIL
2 5 left, speed 2 20, Scandinavian 6 3 1

--------------------------------------------------------------------------------------------------------

CTL
Grantia 4 1 0 descend 4 thousand feet, q_n_h 1 0 1 4

PIL
4 thousand 1 0 1 4, Grantia 4 1 0, thank you

--------------------------------------------------------------------------------------------------------

PIL
Frankfurt arrival grüB Gott, Lufthansa 3 5 0 1 out of level 8 0 (12) ________________

CTL
3 5 0 1 Guten Tag

--------------------------------------------------------------------------------------------------------

CTL
3 2 0 3 turn left heading 0 9 0 expect runway 2 5 right

PIL
0 9 0 for 2 5 right, Lufthansa 3 2 0 3

--------------------------------------------------------------------------------------------------------

CTL
Scandinavian 6 3 1 descend level 7 0

PIL
Descend level 7 0, Scandinavian 6 3 1

--------------------------------------------------------------------------------------------------------

CTL
Tarom 3 0 3 (13) ____________________________________ if possible and contact tower 119 decimal 9

PIL
1 19 9, bye

CTL
Bye

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 2 0 3 descend level 7 0

PIL
7 0, 3 2 0 3

CTL
And speed around 2 20 now

PIL
Ja, we are reducing, 2 2 0

CTL
Ack

--------------------------------------------------------------------------------------------------------

PIL
GrüB Gott (14) _________________________

CTL
Guten Tag

-------------------------------------------------------------------------------------------------------

CTL
Scandinavian 6 3 1 turn right heading 2 2 0 intercept localiser 2 5 left

PIL
Heading 2 2 0 to intercept localiser 2 5 left, Scandinavian 6 3 1

--------------------------------------------------------------------------------------------------------

CTL
Grantia 4 1 0 turn left heading 2 8 0 cleared i_l_s 2 5 left

PIL
Further left 2 8 0 cleared i_l_s 2 5 left, ... thank you

--------------------------------------------------------------------------------------------------------

CTL
Scandinavian 6 3 1 continue descent now 4 thousand q_n_h is 1 0 1 4, cleared for the 


i_l_s 2 5 left now

PIL
(15) _________________________ and cleared i_l_s 2 5 left, Scandinavian 6 3 1

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 5 0 1 turn right heading 3 5 0

PIL
Right heading 3 5 0, 3 5 o 1

CTL
Expect runway 2 5 left

PIL
Ack

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 2 0 3 right turn now heading 1 8 0

PIL
(........)  Lufthansa 3 2 0 3

CTL
Lufthansa 3 2 0 3 contact director 1 2 4 2

PIL
Cheers

CTL
Cheers

--------------------------------------------------------------------------------------------------------

PIL
Baltic 7 5 7 (16) ________________________________

CTL
Roger, reduce now 1 7 0 knots, expedite reduction and maintain 1 7 0 to the outer


marker

PIL
(17) _________________________________, Baltic 7 5 7

--------------------------------------------------------------------------------------------------------

CTL
Roger, 4 1 0 reduce speed 1 8 0

PIL
Speed 1 8 0 Grantia 4 1 0, (18) _______________________________thank you.

--------------------------------------------------------------------------------------------------------

PIL
     Lufthansa 4 5 5 heavy, Guten Morgen, information P

CTL
     4 5 5 Guten Morgen turn right heading 1 7 0

PIL
Right turn heading 1 7 0 degrees, (19) _____________________________, okay right turn 1 7 0, 4 5 5

CTL
Or you may continue your left turn as well to (.............) the south (....) problem

PIL
(German) okay rechts 1 7 0 Lufthansa 4 5 5

CTL
Alles klar

--------------------------------------------------------------------------------------------------------

PIL
Air France 1 4 0 2 (20) ____________________________

CTL
Heading 1 1 0 now Air France 1 4 0 2

PIL
Roger, heading 1 1 0 Air France 1 4 0 2, (21) _____________________________

CTL
Director (22) _________________________________________________

PIL
Roger

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 5 0 1 speed 2 20

PIL
3 5 0 1 reducing 2 10

CTL
Roger, ten, and director now 1 2 4 2

PIL
Ack (German)

CTL
Ack (German)

--------------------------------------------------------------------------------------------------------

PIL
(...) Iberia 5 2 0 grüB Gott, descending 9 0, C

CTL
Iberia 5 2 0, Good morning

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 descend  5 thousand feet q_n_h 1 0 1 4

PIL
We descend 5 thousand 1 0 1 4, 1 4 0 2

--------------------------------------------------------------------------------------------------------

CTL
Scandinavian 6 3 1 reduce speed now 1 7 0 knots

PIL
Speed 1 7 0, Scandinavian 6 3 1

--------------------------------------------------------------------------------------------------------

PIL
7 5 7 (23) ____________________________________

CTL
Baltic 7 5 7 contact tower 1 1 9 9

PIL
1 19 9, cheers

CTL
Ack

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 5 8 9 turn right heading 0 1 0

PIL
5 8 9 heading 0 1 0

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 5 5 descend level 7 0

PIL
(24) __________________________, Lufthansa 4 5 5

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 speed 2 2 0 knots now and turn left 0 7 0, contact director 1 2 4 2

PIL
Speed 2 2 0 heading left 0 7 0 (25) __________________________

CTL
1 2 4 2

PIL
1 2 4 2  1 4 0 2, Wiederhören

CTL
Ack

--------------------------------------------------------------------------------------------------------

PIL
Director Guten Morgen Air France 1 4 0 2 on heading 0 7 0

CTL
Roger Air France 1 4 0 2 descend altitude 4 thousand feet

PIL
We descend 4 thousand  1 0 1 4  Air France  1 4 0 2

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 5 0 1 turn left heading 2 8 0 cleared i_l_s 2 5 left, (26) ________________

________________________________________

PIL
Roger 2 8 0 cleared i_l_s 2 5 left, leave 5 on the glide (German), 3 5 0 1

--------------------------------------------------------------------------------------------------------

PIL
Director Lufthansa 4 5 5 heavy, guten Tag (27) __________________________

CTL
Lufthansa 4 5 5 Runway 2 5 right

PIL
2 5 right, 4 5 5

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 Runway 2 5 left

PIL
Runway 2 5 left for 1 4 0 2

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 0 5 1 if you er still (28) ____________________________________ you need not reduce

PIL
(German)

CTL
(German)

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 5 5 on present heading intercept localiser for 2 5 right, stand by for further


descent (29) ______________________________________

PIL
Okay present heading descend localiser 2 5 right, Lufthansa 4 5 5

--------------------------------------------------------------------------------------------------------

CTL 
Lufthansa 3 5 01 now reduce 1 7 0 knots

PIL
Reducing 1 7 0, 3 5 0 1

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 2 0 3 speed 1 7 0 or a bit more to the outer marker, (30) ______________


contact tower 1 1 9 decimal 9, cheers

PIL
1 1 9 decimal 9 cheers (...) now

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 turn left heading 3 3 0

PIL
     Left heading 3 3 0, Air France 1 4 0 2

--------------------------------------------------------------------------------------------------------

PIL
Director grüB Gott Lufthansa 5 8 9

CTL
Guten Tag Lufthansa 5 8 9, descend flight level 7 0, runway 2 5 left

PIL
(31) ____________________________, 2 5 left, 5 8 9

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 continue left turn heading 2 8 0 cleared i_l_s approach 2 5 left

PIL
Left 2 8 0 cleared to i_l_s approach 2 5 left, 1 4 0 2

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 5 5 reduce speed to 1 7 0 knots you’re cleared the i_l_s 2 5 right, to leave 7 0 on track, passed q_n_h 1 0 1 4

PIL
Okay cleared i_l_s 2 5 right, (32) _______________________ 1 0 1 4, Lufthansa 4 5 5

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 5 8 9 turn left heading 2 8 0 intercept localiser 2 5 left

PIL
Heading 2 8 0 to intercept localiser 2 5 left 5 8 9

--------------------------------------------------------------------------------------------------------

CTL
3 5 0 1, 1 5 miles final contact tower 1 1 9 decimal 9. Cheers

PIL
19 9, Cheers, 3 5 0 1

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 maintain 2 20 knots I call you back to reduce

PIL
Maintaining (33) ________________________________ Air France 1 4 0 2

CTL
Affirmative

--------------------------------------------------------------------------------------------------------

PIL
Director Malev 5 2 0 grüB Gott, maintaining 7 0 speed 2 2 0

CTL
GrüB Gott Malev 5 2 0, runway 2 5 left

PIL
2 5 left

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 5 8 9 descend to altitude 4 thousand feet q_n_h 1014, cleared i_l_s approach 2 5 left

PIL
1 0 1 4 descend 4 thousand feet, (34) _____________________________ cleared for i_l_s 2 5 left, Lufthansa 5 8 9

--------------------------------------------------------------------------------------------------------

CTL
Malev 5 2 0 turn left heading 3 2 0

PIL
Left heading 3 2 0, Malev 5 2 0

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 reduce speed to 1 7 0 knots

PIL
Reducing 1 7 0 knots, 1 4 0 2

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 5 8 9 you are following an Airbus 3 4 0, 4 and a half miles ahead. (...) in sight by chance ?

PIL
(35) ____________________________________, 5 8 9

CTL
That means you fear to lose him ?

PIL
Er, we (36) ________________________________

CTL
     Roger, so you need not reduce if you wish, visual separation

PIL
That’s okay with us

--------------------------------------------------------------------------------------------------------

CTL
Malev 5 2 0 turn left heading 2 7 0, intercept localiser for 2 5 left

PIL
Heading 2 7 0 cleared to localiser 2 5 left, Malev 5 2 0

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 report speed now ?

PIL
7 0 Air France 1 4 02

CTL
Understand 1 7 0 ?

PIL
Yes, that’s affirm

CTL
Thank you you’re now 12 miles out, preceding is 4 and a half miles ahead, (37)_______________________________ contact tower 1 1 9 decimal 9, au revoir

PIL
1 1 9 decimal 9 Air France 1 4 0 2 Wiederhören

CTL
Ack

--------------------------------------------------------------------------------------------------------

PIL
Tower Guten Morgen, Air France 1 4 0 2 on final 2 5 left

CTL
Air France 1 4 0 2, Guten Morgen

--------------------------------------------------------------------------------------------------------

PIL
Tower, Good morning, Condor 0 7 2 is (38) _______________________________

CTL
Lufthansa 7 0 2, correction Condor 0 7 2, roger, report ready

PIL
Call you when ready (39) ____________________________________________

CTL
Roger

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 2 0 3 right turn off, contact apron 1 2 1 decimal 7

PIL
1 2 1 7 roger 3 2 0 3, cheers

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 5 0 1 you’re clear to land runway 2 5 left, wind 0 4 0, 3 knots

PIL
Cleared to land 2 5 left Lufthansa 3 5 0 1. (40) __________________________

CTL
0 4 0, 3 knots

PIL
Roger

--------------------------------------------------------------------------------------------------------

PIL
     Frankfurt, grüB Gott Lufthansa 5 8 9

CTL
Lufthansa 5 89, grüB Gott, call you

--------------------------------------------------------------------------------------------------------

CTL
Condor 0 7 2 line up runway 2 5 right

PIL
(41) ______________________ runway 2 5 right, Condor 0 7 2

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 5 8 9

PIL
Go ahead

CTL
Please reduce speed to 1 60

PIL
We are doing so

--------------------------------------------------------------------------------------------------------

CTL
Condor 0 7 2 wind 0 4 0, 3 knots cleared for take-off runway 2 5 right

PIL
Roger, cleared for take-off runway 2 5 right, Condor 0 7 2

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 5 0 1 hold short of runway 2 5 right in H

PIL
In H hold short und (German)

CTL
Okay Danke, 3 5 01

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 wind 0 4 0, 3 knots you’re cleared to land runway 2 5 left, (42)___________________________________________________________

PIL
Roger we land 2 5 left, Air France 1 4 0 2

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 5 5, (43) _________________________, landing clearance shortly

PIL
Okay

--------------------------------------------------------------------------------------------------------

CTL
Condor 0 7 2 are you rolling now ?

PIL
Affirmative

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 3 5 0 1, behind Condor quick crossing and taxiway H and contact


apron 1 2 1 7 on the other side

PIL
Behind departing Condor quick crossing and apron, 3 5 0 1

--------------------------------------------------------------------------------------------------------

PIL
Tower, Malev 5 2 0 grüB Gott, i_l_s approach runway 2 5 left

CTL
Malev 5 2 0 Guten Tag

--------------------------------------------------------------------------------------------------------

CTL
Cross now please

PIL
5 8 9 alright

CTL
Roger

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 (44) ________________________________and taxi into taxiway K, hold short

PIL
Next to the right, and we hold short on taxiway K

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 5 8 9 wind 0 3 0 with 3 knots you’re cleared to land runway 2 5 left

PIL
Cleared to land on 2 5 left, 5 8 9

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 5 5 cleared to land 2 5 right, (45) _____________________________, wind 0 3 0, 3 knots

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 taxi C back to B hold at stop 2

PIL
C back to B and stop 2, 1 4 0 2

--------------------------------------------------------------------------------------------------------

CTL
Scandinavian 6 3 1 cross extended centreline via B, contact apron 1 2 1 decimal 9 5

PIL
We cross centreline at B 1 (46) ____________________, Scandinavian 631, bye

CTL
Ack

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 4 5 5 right turn off, contact apron 1 2 1 decimal 7

PIL
Roger 1 2 1 7 Lufthansa 4 5 5, Cheers

CTL
Ack

--------------------------------------------------------------------------------------------------------

PIL
Tower, good morning, American 8 3 (47) ________________________________

CTL
American 8 3 good morning


American 8 3 line up runway 2 5 right

PIL
Line up, 2 5 right American 8 3

--------------------------------------------------------------------------------------------------------

PIL
Tagen, Tower Lufthansa 2 4 0 8 (48) ________________________________

CTL
Lufthansa 2 4 0 8 roger, call you

--------------------------------------------------------------------------------------------------------

PIL
Tower Good morning, Alitalia 4 4 0, 1 7 0 knots 2 5 right

CTL
Alitalia 4 4 0 good morning 

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 5 8 9 taxi C, G, hold short of 2 5 right

PIL
C, G, 5 8 9

--------------------------------------------------------------------------------------------------------

CTL
American 8 3 wind 0 6 0, 4 knots cleared for take-off runway 2 5 right

PIL
Cleared for take-off 2 5 right, American 8 3

--------------------------------------------------------------------------------------------------------

CTL
Malev 5 2 0 wind 0 5 0, 4 knots you’re cleared to land runway 2 5 left

PIL
Cleared to land 2 5 left, Malev 5 2 0

--------------------------------------------------------------------------------------------------------

PIL
Guten Tag, C C V W (49) _____________________________________

CTL
Guten Tag C C V W, call you

--------------------------------------------------------------------------------------------------------

CTL
Alitalia 4 4 0 wind 0 3 0, 4 knots you’re cleared to land runway 2 5 right

PIL
2 5 right cleared to land Alitalia 4 4 0

--------------------------------------------------------------------------------------------------------

PIL
Tower Guten Morgen (50) _____________________________________

CTL
3 3 2 0 Guten Morgen, call you

--------------------------------------------------------------------------------------------------------

PIL
Morning Frankfurt Delta 1 4 with you

CTL
Delta 1 4 good morning I’ll call you

--------------------------------------------------------------------------------------------------------

CTL
Lufthansa 2 4 0 8 behind landing traffic on a short final, line up 2 5 right

PIL
Behind the landing lining up 2 5 right, Lufthansa 2 4 0 8

--------------------------------------------------------------------------------------------------------

CTL
Air France 1 4 0 2 behind landing traffic cross extended centreline via B, contact apron 1 2 1 decimal 9 5

PIL
We cross centreline after the landing Alitalia and calling ground ?

CTL
1 2 1 decimal 9 5 apron please

PIL
Roger 1 2 1 9 5 apron 1 4 0 2, Wiederhören 

--------------------------------------------------------------------------------------------------------

CTL
D C C (.....) wind 0 2 0, 5 knots cleared to land runway 2 5 left

PIL
Cleared to land 2 5 left, C

--------------------------------------------------------------------------------------------------------

PIL
Apron, Guten Morgen Air France 1 4 0 2 (51) _____________________________

CTL
Guten Morgen Air France 1 4 0 2 taxi to V 1 0 7 via B and N

PIL
B and N to V 1 0 7, Air France 1 4 0 2

--------------------------------------------------------------------------------------------------------

PIL
Apron Delta 1 0 7 (52) ______________________________________

CTL
Delta 1 0 7 good morning your push back is approved facing to the west

PIL
Roger, facing west for Delta 1 0 7

CTL
Er, (53) _________________________________________________________

--------------------------------------------------------------------------------------------------------

SLT 4 : ANSWER SHEET

(1) Down to 110

(2) your rate of descent ?

(3) increase 2 thousand 5 hundred or more

(4) reducing speed 

(5) checking level 1 hundred 

(6) information P 

(7) heading 1 8 0

(8) level 7 0

(9) out of  1 0 6 for 9 0 with P

(10) a cat 3 simulated approach

(11) a cat 3 simulated approach

(12) descending level 7 0

(13) keep 1 8 0 knots to the outer marker 

(14) Lufthansa 5 8 9, heavy 

(15) Descend 4 thousand feet 1 0 1 4 

(16) ,reducing 2 3 0 knots 

(17) Expedite reduction 1 7 0 

(18) on the localiser 2 5 left 

(19) no chance of a left turn, 

(20) overhead F F M 

(21) shall we expect 2 5 right ? 

(22) will assign the runway later on 

(23) fully established 

(24) Out of 9 for 7 0 

(25) and director ?

(26) leave 5 thousand on the glide path 

(27) out of 8 for 7 0 

(28) see the traffic and wish to close up visually 

(29) below 7 0 after 5 miles

(30) you’re 15 miles out 

(31) Leaving 9 descend 7 0 

(32) leave 7 on the glide

(33) 2 2 0 knots for the time being 

(34) leaving 7 0 this time

(35) For the time being yes

(36) have him in sight 

(37) same runway same speed, 

(38) on the way to runway 2 5

(39) when we are at number 1 I think we are ready

(40) Say again wind ? 

(41) Line up and wait 

(42) a flock of birds reported overhead the threshold 

(43) departure on the roll 

(44) right turn off without delay 

(45) do not acknowledge 

(46) over to ground 

(47) ready, runway 2 5 right 

(48) we are ready behind the American 

(49) established on the left 

(50) Lufthansa 3 3 2 0 heavy on final 

(51) crossing centreline and B 

(52) a push back from D 5 

(53) disregard, make it to the east, push back facing east
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